LaampPron

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: GG2200

Power & force

Ne ApTUKYN HaumeHoBaHwue K-Bo Ne ApTUKYN HaumeHoBaHwue K-8o
1 012540000000 [Osuratens 1 24 029030300201 Kpbiwka reHepaTopa 1
2 022820000101 KpbllWKa reHepaTopa CTOpOHa Aguratens 1 25 511050501201 bont M5x12 2
3 511050805006 Bont M8x50 2 26 511050604001 Bont M6x40 2
4 512040800001 laiika M8 2 27 022820100041 Pama 1
5 511050802501 Bont M8x25 2 28 022820000232 PykoAaTkKa 1
6 062014320008 Potop 1 29 029050290003 LWTnoT Koneca 2
7 062014530006 CraTop 1 30 511050601405 bont M6x14 1
8 029030100901 0O60/104Ka cTaTopa 3alWmUTHan 1 31 029970000506 Koneco 2
9 029030400206 KpblwKa reHepaTtopa ctopoHa AVR 1 32 513011200000 Wawnba 12 4
10 029030500101 KoHTakTHaa nnata 1 33 513030600000 Llaiiba 6 3
11 511050501601 Bont M5x16 6 34 029930000302 Bont M8x8 1
12 511140502000 Bont M5x20 2 35 513030800000 LWaiba 8 1
13 512010500001 laitka M5 4 36 029910100300 AmopTu3zaTtop 2
14 513020500000 Waiba 5 3 37 513040803805 LWaiba 2
15 513010500001 Waiba 5 4 38 512040600001 lalika M8 3
16 029030610202 Bnok AVR 2 kBt 1 39 517050401204 BuHT 4,2x12 4
17 513030500000 LWaiba 5 1 40 029021500013 MaHenb KOHTPObHAA 1
18 029030700100 LeTkn 1 41 022650002700 3arnywka 4
19 513020600002 Waiba 5 5 42 022170000300 laiika 2
20 511050615001 Bont M5x150 4 43 022170000400 Mpoknagka 2
21 513040800006 LWaiba 8 1 44 511110805005 Bont M8x50 2
22 513020800002 LWaiba 8 1 45 022650000600 Haknagka pykoaTku 1
23 511080819501 Bont 5/16x195 1 46




LaampPron

Power & force MnnocTprpoBaHHbI KaTasor 3anacHbIX YacTei Mogenb: GG2200
‘—S

Ne ApPTUKYN HanmeHoBaHue K-Bo N ApTUKYN HanmeHoBaHue K-Bo

1 012510100000 CrapTep 1 3 515060401202 BuHT M4x12 3

2 012510000100 Koyx ctapTepa 1 4 512030600000 laiika M6 3
Ne ApTUKYN HaumeHoBaHwue K-Bo Ne ApTUKYN HanmeHoBaHue K-8o
1 012020002900 lalika maxoBuKa 1 4 012020800000 MaxoBuk 1
2 012510002700 CTakaH MaxoBMKa 1 5 511050602201 bont M6x22 1
3 012020002700 Kpblab4yaTka MaxoBmKa 1 6 012510001100 MarHeTo 1




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: GG2200

2
12—? —13
17
é g
Ne ApTUKYN HaumeHoBaHwue K-Bo Ne ApTUKYN HaumeHoBaHwue K-8o
1 012510003900 Kaptep 1 10 012510002800 Kpbiwka canyHa 1
2 012510002500 Bosayxosog R 1 11 511050601601 Bont M6x16 3
3 511050601601 Bont M6x16 2 12 511050601601 Bont M6x16 2
4 012510002200 LLinunbKa KpenneHua ctaptepa 1 13 012510002400 Bosayxosog L 1
5 012510002100 LnunbKa KpenieHua ctapTepa 2 14 012510002600 LWnaHr canyHa 1
6 012510004100 CanbHUK KONleHBaa CTOPOHA MaxoBMKa 1 15 012510004300 Ocb perynatopa obopoTtos 1
7 012510003000 KnanaH canyHa 1 16 019990000700 LWnAnHT ocn 1
8 511050601201 bont M6x12 1 17 019990000600 LLlaba ocu perynatopa 1
9 012510002900 MpoKNagKa KpbILWKK 18 012510004200 CanbHUK ocu perynatopa 1
B
Ne ApTUKYN HaumeHoBaHwue K-Bo Ne ApTUKYN HaumeHoBaHwue K-8o
1 511050601401 BonTt M6x14 4 6 012510002000 lonoBKa unnmMHapa 1
2 012510001200 KpblwKa knanaHos 1 7 516050610001 LLINnnnbKa ronoBku umMnmHAapa 2
3 012510001300 MpoKNagKa KPbILWKKW KNanaHoB 1 8 516050610001 LLINMnbKa ronoBkun UMAMHApPa 2
4 F5TC Cseuya 3axuraHua 1 9 012510001400 MpoknagKa ronoBKN LMANHAPaA 1
5 511050805503 BonTt M8x55 4 10 514011001408 LUTM®T ronosku uunnHapa 2




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: GG2200

Ne ApPTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-8
1 012510003100 KpbilwKa KapTepa 1 8 012510003200 MpoknagKa KpbILWKKM KapTepa 1
2 511050602003 Bont M8x50 6 9 514010801200 Wrnt 2
3 522010100401 CanbHUK KoneHsana 41,25x25 x 6 1 10 012510003300 3arnyuwka 1
4 514010801000 WrnodT 2 11 019990000300 BonT cansHol 1
5 511050602003 Bont M8x50 1 12 019990000400 Mpoknagka 6bonTa 1
6 012511000000 Perynatop 060poTOB LeHTPObeKHbIM 1 13 012510300000 LLlyn ypoBHA macna c ropNoBUHOMN 1
7 012510003700 Onopa 1 14 511050603501 Bont M6x35 1
Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuKyn HanmeHoBaHue K-8
1 012030400000 Konbuo nopwHeBoe KOMNAEKT 1 6 521010010501 MoAWwnNHMK KoneHBana 1
2 012030000400 MNopweHb 1 7 012540004000 KoneHnsan 1
3 012020002600 Manew, nopwHA 1 8 012510003500 LWanba 1
4 518041600000 Konbuo cTonopHoe nanbua 2 9 519010100100 LLInoHKa 4,76x4,8x45 1
5 012510800000 LWaTyH 1 10




LaampPron

Power & force MANOCTPMPOBaHHbIN KaTasor 3anacHbIX YacTel Mogenb: GG2200

Ne ApTUKYN HaumeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-Bo
1 012020300000 Kopombicno Komnnekt 1 6 012510001800 KnanaH BbinyckHoW 1
2 012020001300 Konnauek 2 7 012510001500 LLitaHra TonKkaTena knanaHa 2
3 012020001400 Cyxapb KnanaHa 2 8 012020002100 Tapesika Tonkatena KnanaHa 2
4 012510001900 Mpy»KMHa KnanaHa 2 9 012510004400 PacnpegBan 1
5 012510001700 KnanaH BnyckHol 1 10 012510003400 LWarba 1
Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuKyn HanmeHoBaHue K-Bo
1 012510001000 MpoKnagKa nog Tenson3onaTop 1 4 012020004000 MNMpoknagka noa Kapbtopatop 1
2 012510000900 Tennousonatop 1 5 012510700000 Kap6topaTop 1
3 012510000800 Oxnaxgatowmi amct 1 6 012020004100 Mpoknagka nog Kopnyc ¢punbTpa 1




LaampPron

Power & force MANOCTPMPOBaHHbIN KaTasor 3anacHbIX YacTel Mogenb: GG2200
3
—2
P |
2V r |
& T/1
\
ﬁj:ll |
\
|~ ‘
PR P A
|
e
8
Ne ApTUKYN HaumeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-Bo
1 012510600000 KpoHwwTeliH pbiyara perynatopa 1 5 512030600000 laitka M6 1
obopoTos
2 012510000600 MpyKuHa TArM perynatopa 1 6 012510003600 Pblvar perynatopa obopotos 1
3 012510000500 Tara perynatopa o6opoTos 1 7 012020004500 bonT pblyara 1
4 012520000100 Mpy*unHa pblyara 1 8 515010601601 Bont M6x16 2
Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuKyn HanmeHoBaHue K-Bo
1 012510500000 Kopnyc ¢punbtpa Komnnekr 1 3 012510000700 Pblyar BO34yLWIHOM 3aCNOHKK 1
2 512030600000 laitka M6 2 4 012510500300 dunbTp BO3LYLWIHbBIN 1
2
2
Ne ApPTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-Bo
1 512030600000 laiika M6 2 3 012510000200 Mpoknagka raywurtena 1
2 012510400000 Fnywwrens 1 4




LaampPron

Power & force MANOCTPMPOBaHHbIN KaTasor 3anacHbIX YacTel Mogenb: GG2200

Ne ApTUKYN HaumeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-Bo
1 012510200000 Bak TonauBHbIN 1 5 012510002300 LinunbKa KpenneHus 6aka 1
2 512030600000 laiika M6 1 6 012510200100 PuUNbTP TONAMUBHBIN 1
3 513070600000 Lanba 6 1 7 029019900206 LLnaHr TonameHbIN 7,5%200 1
4 511050602003 Bont M6x20 1 8 029019900405 XomyT WwnaHra 2




